
1st Case.- Chimney cowl below the 
ridge line

2nd Case.- Chimney cowl above the ridge, but with nearby high 
building.

4th Case.- Obstruction of the smoke 
outlet pipe.

3rd Case.- Chimney cowl fitted to 
the end.

5th Case.- Obstruction of the pipe due to 
horizontal overextension (soot acumulation).
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joint.PLEASE NOTICE: Smoke has a certain percentage of humidity. When the smoke reaches the flue exit, the temperature

difference between the inside and the outside of the pipe causes the condensation of the smoke so it becomes a
liquid tar and it can drip from the inside of the pipe wall. This liquid might damage the tile unless the pipe is
completely sealed with a refractory mastic.


